DT-04 CHASSIS OPTION PARTS

Basic Upgrade Parts Suspension Parts s Transmission Parts Tires & Wheels

54704 11l TAO07 Aluminum Steering Arm Set
53929 2 Dirt-Tuned Motor (27T)
54993

w

TT-02B/DF-03 Aluminum Damper Set
54237 [a M-05 Low Friction King Pin (4pcs.)

22092 5 DT-04 Full Ball Bearing Set
53791 6 DF-02 Assembly Universal Shaft
53863 7 DT-02 Ball Differential Set

54185 8 Dual Block Tires K (4WD/Front, 62/25)
CHASSIS d 54186 Dual Block Tires K (Rear, 62/35)

©

53569

547047 — 51000 54159 54863 53596

*1 #*Use with Item 51000. #*Use with Item 51000. *2
)
80.. IIVOO 0000
) . . ;

Y
00 |1
) € O
&
E“HH” 228 RR 1
cooDOoocof i
TAO7 Aluminum Steering Arm Set  Hi-Torque Servo Saver (Black) Aluminum Horn For Hi-Torque Aluminum Hi-Torque Servo Aluminum Servo Stays (Short) Clamp Type Aluminum Wheel
Servo Saver (F104) Saver Cap Hub (6mm Thick)
54257 53779 — . 53929

5mm Reinforced Adjuster RS-540 Sport Tuned Motor RS-540 Torque-Tuned Motor Dirt-Tuned Motor (27T) Tamiya Brushless Motor 02
(Gray / 8pcs.) (Sensored) 17.5T
53831 54573 — . 53646 _ 53159

M 0000 0000 & @
© 0000 0000 ¢ ~ ¢

#0.5mm x4, Tmm x4

Tamiya Brushless Motor 02 Tamiya Brushless Motor 02 DT-02 Aluminum Motor Heat Sink 0.75mm Wheel Spacer Wheel Spacer (Blue) 4mm Anodized Aluminum
(Sensored) 15.5T (Sensored) 10.5T (Blue/8pcs.) Flange Lock Nuts (Blue, 5pcs.)
54993 3 53927 53832 53443 53444 53445
%5 .
cceeee =
MUESSME
CCCCCC = e & -

CLCO0000

WAV o
AT

INAMAVAN - VAV

=

iilill:‘%&%

wiieae

422488300

o000 |
: - - | -]
TT-02B/DF-03 Aluminum DF-03 Setting Spring Set DT-02 Spring Set Silicone Damper Oil Soft Set Silicone Damper Oil Medium Set  Silicone Damper Oil Hard Set
Damper Set (#200, #300, #400) (#500, #600, #700) (#800, #900, #1000)
54237 (4 54396 54395 220925 54183 54343 IS
#6
| B AR R loocol| & &
M-05 Low Friction King Pin DT-02 Front Damper Lower 3x22mm Low Friction DT-04 Full Ball Bearing Set M-Chassis Reinforced M-Chassis Lightweight
(4pcs.) Attachment Pin (2pcs.) Suspension Shaft (DT-02 & Freewheel Axle Set Freewheel Axle
TT-01 Chassis, 4pcs.)
537916 53863 7 54628 —_— 54629 —_— 54560 —_— 51207
3#Use with Item 53863. %Use with Item 53791.
N ()
C@e A
s OO A
|cecocoo0o0 0¥

DF-02 Assembly Universal Shaft ~ DT-02 Ball Differential Set 08 Module Steel Pinion Gear 08 Module Steel Pinion Gear DT-03 Lightweight Gear Shaft 2WD Off-Road Wide Grooved

7m) (197 (5x45mm/2pcs.) Front Tires (60/19)


https://www.tamiya.com/english/products/53832/index.htm
https://www.tamiya.com/english/products/54396/index.htm
https://www.tamiya.com/english/products/51207/index.htm
https://www.tamiya.com/english/products/53791/index.htm
https://www.tamiya.com/english/products/54863/index.htm
https://www.tamiya.com/english/products/54358/index.htm
https://www.tamiya.com/english/products/53068/index.htm
https://www.tamiya.com/english/products/54257/index.htm
https://www.tamiya.com/english/products/54993/index.htm
https://www.tamiya.com/english/products/22092/index.htm
https://www.tamiya.com/english/products/54183/index.htm
https://www.tamiya.com/english/products/51000/index.htm
https://www.tamiya.com/english/products/54704/index.htm
https://www.tamiya.com/english/products/53831/index.htm
https://www.tamiya.com/english/products/53569/index.htm
https://www.tamiya.com/english/products/54395/index.htm
https://www.tamiya.com/english/products/54560/index.htm
https://www.tamiya.com/english/products/54894/index.htm
https://www.tamiya.com/english/products/53863/index.htm
https://www.tamiya.com/english/products/54573/index.htm
https://www.tamiya.com/english/products/53596/index.htm
https://www.tamiya.com/english/products/54237/index.htm
https://www.tamiya.com/english/products/54628/index.htm
https://www.tamiya.com/english/products/54343/index.htm
https://www.tamiya.com/english/products/53927/index.htm
https://www.tamiya.com/english/products/54629/index.htm
https://www.tamiya.com/english/products/53159/index.htm
https://www.tamiya.com/english/products/54159/index.htm
https://www.tamiya.com/english/products/53779/index.htm
https://www.tamiya.com/english/products/53646/index.htm
https://www.tamiya.com/english/products/53929/index.htm
https://www.tamiya.com/english/products/54611/index.htm
https://www.tamiya.com/english/products/54612/index.htm
https://www.tamiya.com/english/products/53445/index.htm
https://www.tamiya.com/english/products/53443/index.htm
https://www.tamiya.com/english/products/53444/index.htm

DT-04 CHASS|S OPT'ON PARTS === Basic Upgrade Parts === Suspension Parts s Transmission Parts Tires & Wheels

54284 53084 53059 54185 & 54186 9 54187

#*Use with Item 51448.

Off-Road Wide-Grooved Soft 6029 Square Spike Rear Tires Wide Stud Spike Tires (1 Pair) Dual Block Tires K (4WD/Front, Dual Block Tires K (Rear, 62/35) Dual Block Tires C (4WD/Front,

Tires (2WD/Front, 60/19) (1 Pair) 62/25) 62/25)
54188 51448 22044 53086 53880 53881

*7

22

Dual Block Tires C (Rear, 62/35) DN-01 Inner Sponge (Front) 2WD Buggy Front Star-Dish 6029 Rear Star-Dish Wheels Large Dish Wheels (4WD/Front, Large Dish Wheels (Rear, 62/35)
Wheels (Hex Hub, White) (1 Pair) 62/25)

%1 Use in place of B10 parts. Do not use kit 850 plastic bearings.

%2 Use kit 3x10mm flat screws when attaching servo to aluminum servo stay. Use 3x10mm screws included in Item 53596 without washers when
attaching aluminum servo stay to chassis. Check Iltem 53596 on our homepage to see details.

%3 Use with Item 22092 DT-04 Full Ball Bearing Set. %4 Some transponders might obstruct the heat sink.

%5 Adjust O-rings and piston holes used for aluminum damper set. Check Item 54993 on our homepage to see details.

%6 Two sets with six suspension shafts are required if replacing all 3x22mm screw pins.

%7 Use with Item 51207 2WD Off-Road Wide Grooved Front Tires (60/19) and Item 54284 Off-Road Wide-Grooved Soft Tires (2WD/Front, 60/19).

%8 Use with Item 54185 Dual Block Tires K (4WD/Front, 62/25) or Item 54187 Dual Block Tires C (4WD/Front, 62/25).

%9 Use with Item 54573 0.75mm Wheel Spacer (Blue/8pcs.) or Item 53646 Wheel Spacer (Blue). Apply outward offset of Tmm or more.

%10 Use with Item 54186 Dual Block Tires K (Rear, 62/35) or Item 54188 Dual Block Tires C (Rear, 62/35).

@Information is current as of January 2025. @Products may differ from the images shown.
@Specifications are subject to change without notice. @This catalog lists the major parts compatible with the chassis. TAM IYA.
@See the R/C Parts Matching List on www.tamiya.com for a list of parts and their compatible chassis.

©2025 TAMIYA


https://www.tamiya.com/english/products/54284/index.htm
https://www.tamiya.com/english/products/54188/index.htm
https://www.tamiya.com/english/products/53084/index.htm
https://www.tamiya.com/english/products/51448/index.htm
https://www.tamiya.com/english/products/53059/index.htm
https://www.tamiya.com/english/products/22044/index.htm
https://www.tamiya.com/english/products/54185/index.htm
https://www.tamiya.com/english/products/53086/index.htm
https://www.tamiya.com/english/products/54186/index.htm
https://www.tamiya.com/english/products/53880/index.htm
https://www.tamiya.com/english/products/54187/index.htm
https://www.tamiya.com/english/products/53881/index.htm

